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AT, AMf_l:100,000*2%+(98,000*1.65)*1,19%=2,000+1 225=3,225

AT, AMf_2:((98,000%1.05)-1,225)*1.05*1.19%=101,675*1.05*1.19%=1,270

AT, AMf _3:((101,675*1.05)-1,270)*1.05%1.19%=105,489*1.05*%1.19%=1,318

AT, AMf _4:(105,489*1.05-1,318)*1.05*1.19%=109,445*1.05*1.19%=1,368
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EIFEEH 2,999 1,999
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BT, BMf_l:(lO0,000*l 05)*1.79%+100,000*3%(CDSC)=1,880+3,000=4,880

BT, BMf _2:((100,000*1.05)-1,880)*1.05*1.79%+100,000*2%(CDSC)=103,120*1.05*1.79%+100,000*2%=1,938+2,000=3,938

BT, BMf _3:((103,120*1.05)-1,938)*1.05*1.79%+100,000*1%(CDSC)=106,338*1.05*1.79%+100,000*1%=1,999+1,000=2,999

BT, BMf _4:((106,338*1. 05) 1,999)*1.05*1.19%=109,656*1.05%1.19%=1,370
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